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Question: 1 
   
Answer the question using this data. 
For films where Disney was not the lead studio, what was the % decrease in profitability from 2010 to 
2011? 
 
A. 55.3% 
B. 7.2% 
C. 11.59% 
D. 86.28% 
 

Answer: B     
 

Question: 2 
   
Answer using this data. 
For boys born between 2000 and 2012, the most common first letter for the top name by state was: 
 
A. W 
B. M 
C. J 
D. D 
 

Answer: C     
 

Question: 3 
   
Answer this using the SuperStore data. 
Find the total sales value for all product subcategories for customers who ordered office furnishings. 
 
A. 3,864,069 
B. 8,119,645 
C. 2,258,326 
D. 2,786,637 
 

Answer: A     
 

Question: 4 
   
Answer this question with the Little League data. 
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How many players have the first name “Anna” 
 
A. 1 
B. 2 
C. 3 
D. 4 
 

Answer: B     
 

Question: 5 
   
The AVG function does not treat null values as zeros. Rather, the AVG function ignores null values. 
 
A. True 
B. False 
 

Answer: A     
 

Question: 6 
   
Answer this question with the Little League data. Using the Players sheet, what percent of pitchers and 
catchers had a batting average above 0.300 and had fewer than 10 runs? 
 
A. 36.54% 
B. 63.46% 
C. 19.23% 
D. 80.77% 
E. 80.23% 
 

Answer: C     
 

Question: 7 
   
An aggregated calculation can be multiplied by a non-aggregated constant. 
 
A. True 
B. False 
 

Answer: A     
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Question: 8 
   
Use this data to answer the following question. How many failed votes were there for bills where the 
Sponsor Party was Republicans (coded as R) from Colorado (coded as CO) in 2013? 
 
A. 3 
B. 36 
C. 78 
D. 66 
E. 1,188 
 

Answer: B     
 

Question: 9 
   
Use this data to answer the following question. New England consists of the following states: 
Connecticut, Maine, Massachusetts, New Hampshire, Rhode Island, and Vermont. Which year saw the 
greatest increase in adults on probation? 
 
A. 1998 
B. 2002 
C. 2009 
D. 2011 
 

Answer: B     
 

Question: 10 
   
Answer this question with the Teams 2014 and Games worksheets on the Little League. The Games data 
includes information on games played in 2015, including showing the team that won each game. Which 
team had the biggest increase in winning games between 2014 and 2015? 
 
A. Lightning 
B. Knights 
C. Bears 
D. Ninjas 
 

Answer: D     
 

Question: 11 
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Answer this question with the Teams 2013 and Teams 2014 worksheets on the Little League Which team 
had the biggest decrease in games won from 2013 to 2014? 
 
A. Lions 
B. Bears 
C. Tigers 
D. Lightning 
 

Answer: A     
 

Question: 12 
   
Using the Best Buy data, What was the month and year with the largest absolute increase in average 
Open value from the same month in the prior year? 
 
A. January 2015 
B. January 2016 
C. March 2016 
D. March 2015 
E. None of the above 
 

Answer: D     
 

Question: 13 
   
When using a _____ join the result is a table that contains all values from the left table and 
corresponding matches from the right table. 
 
A. INNER 
B. BLEND 
C. RIGHT 
D. FULL OUTER 
E. LEFT 
 

Answer: E     
 

Question: 14 
   
If you see duplicate data after doing a join you may be able to eliminate the duplication by which of the 
following? 
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A. Combine the tables using a cross database join rather than a standard join 
B. Add a duplicate filter to your data 
C. Change the join condition 
D. Change to a full outer join 
 

Answer: C     
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